Math 9 5.6 Solving Word Problems Name:

Translating English into Math

7 more than a number
han & numbery, | 7L e ALY
Twice a number . 21/
4 less than a number .X
. A i
3 more than one-half a number
22 +73
| John's age in 5 years, if John is N
J years now J T 5'
Rachel’s age last year if she is I years now r ,
If the width is W, find the length if the (= a0+ X
length is 4 more than twice the width . <)
If the length is L, find the width if the W = }L e
width is 5 less than the length TN

Lob Slale monf

v’ Sketch a diagram or create a chart

v~ Identify the UNKNOWN or UNKNOWNS, for example Mary’s
age now or the width

®
@ v’ Create an equation that describes the story
@ ¥ Solve the equation

v" Answer the question in a sentence



EXAMPLES

Jesse is 1 year older thah three times as old as Ryan. In 6 years, the sum cigtheir ages
will be 61. How old te’they now?

“re | I'N |In6
~—S§{.+R eh= () ow n years’_~
Je ’ ' Jesse I3r+ ‘ ¢3Hl)+‘ 3}-4—1

(3r41Y +(rde) =)

» ~ Ryan | =1 2 I r+b
Br+i+r+6 F6) A
drFrea+4 =6 ' Total ]
———— =17 —_— »
4r + 1352 6) Jesse - 254'\’ { /2_

Ar=48 =12 ) 332)4)  JeSse o 37
Z 7 =737
A number is doubled, and then decreased by 5, If the result is 9, find the original
number,

« Let % be Ml rarwber

2 =M The rrber 1f ]

)(_C

The perimeter of a rectangle is 46 cm. If the len

gth is 5 cm less than three times the
width. What are the dimensions

B FeRMULA > 9P 120y =
— A~ N
w1 2(3w-5)+2(w)= 1

=45
o GW"IO +Zw
??h)r Sw —10 =96
?-‘-' Lo +10
-~ (L 4 = 5-5
S A



Ma 9 , 5.6  Assignment Name: }:Q,E;

1. John is three times as old as Amy now. In 4 years the sum of their ages will be
36, find their ages now.

[3&+4> n (Q/,+4) =36 Now 1 In 4 years
3@,’/'*-1}' + fl “‘Z[ > 36 John 30—:2/ 86“%4
da + 5 =3¢ =7 o +4
la= ij Total 36
John 15 '2/j Ay S 7/

2. Paul is 11 years older than Rennie now. In 5 years the sum of their ages will be
23. Find their ages today.

(/\Mé )+ .r+s‘) =15 Now 0 > years
2k + 2/ = 22 Paul | A 11212 b A

2Fr = % i
o, e ¢ =7 | ot

2.

, Total
. ’ - /_(7 / = ) |
Conee & 1, Feed

32 _
3. A number is tripled, and then decreased by 7. The result is,B‘f. What is the
number? Let x be the number

3 =39
x:(g

B o 1D



4. A number is added to three times itself. Then, then decreased by 6. TheA result is
38. What is the number? Let x be the number

o« + 3L —L =37
gy -6 =3
47L:44

£ =

5. A rectangle has a perimeter of 60 cm. The length is 3 cm more than twice the
width. What are the dimensions? Sketch and label a diagram.

Let w = the width 5
20 + 2w T/
. Q(?bUwLB) +2p = GO
w Joo + b + 2(,«/-:60
| Gow +6 4
w2 oo =57 P diers -

M b ad

6. The width of a rectangle is 3 less than the length. If the perimeter is 34 cm,
what are the dimensions? Sketch and label a diagram.

Letl-yghe length Q/Q Lo = P _
" 7 opia(e-s) =3
) -2 \22#22/@ = 34
449 -6 =2
40 = 90
L=/

/OC e bj ~7f ~

$

J



7. When 8 is added to three tlmes a number the result is 41. What is the number7
Let x be the number

< + 3 =41
29 =35
X =/

8. Next year, Paul will be twice as old as Francis. And the sum of thelir ages is 4’)}2
FFind their ages today

g ;/’
) (f%) + = e - Now Next year
. i L = Z{ L y P - ) .
204+ + £ paul 25 Zx(u@ﬁ* ! )” gf_"zzf
3\0 + 2 7 s 7[3 . I
2 =3 9 Francis A
L=i> Total

@
B P W N A I
Y DA

s
9. The perimeter of a rectangle is 126 cm. If the Iength is five times the wndth find
the dimensions of the rectangle. Let the width be w
S 204+ 2w = £

W 2(5uu_)’j‘7"u = 7
/@CU e 2w ’/2 C/

/ZW ,/cé
[ = 5(/0-5)
= g2 I

. D en
5,7\5 e *«2’:/) /0. e



10.The width of a rectangle is 3-cm more than one-half the length. If the perimeter
is 54 cm, find the dimensions. Let the length be L

20 42w =F
sz 5 e 2(3843)= 57
‘2»@ L PF+0 =1

- 3 p =98
L£2(6 ) w7 /!

11.A number is doubled, and then increased by 5. That value is the same as the
same number tripled then decreased by 2. What is the number?
Let x be the number

I +5= 32
7':1

12.Teresa is 1 year older than twice Alex’s age. In 7 years, the sum of their ages

Ty P e Now In 7 years

will be 52. How old are they now?

‘ 7 45
ey

Teresa

-Alex

g Total




